
Table 1: Case Level Baseline Statistics

Development Test Test Statistic
N = 20914 N = 20962

STN1 : 581 10% (2105) 10% (2099) χ2
6 = 0.51, P = 0.998

596 19% (4007) 19% (4014)

603 16% (3293) 16% (3345)

614 17% (3500) 17% (3487)

621 15% (3153) 15% (3138)

622 1% ( 126) 1% ( 124)

626 23% (4730) 23% (4755)

c cdarrest : 0 99% (20736) 99% (20790) χ2
2 = 1.2, P = 0.549

1 1% ( 177) 1% ( 169)

2 0% ( 1) 0% ( 3)

c cdmi : 0 100% (20821) 100% (20867) χ2
2 = 1.04, P = 0.593

1 0% ( 92) 0% ( 95)

2 0% ( 1) 0% ( 0)

c othdvt : 0 100% (20842) 100% (20884) χ2
2 = 1.32, P = 0.518

1 0% ( 71) 0% ( 78)

2 0% ( 1) 0% ( 0)

c othsysep : 0 99% (20623) 99% (20677) χ2
3 = 1.2, P = 0.754

1 1% ( 284) 1% ( 276)

2 0% ( 7) 0% ( 8)

3 0% ( 0) 0% ( 1)

c oupneumo : 0 97% (20312) 97% (20354) χ2
2 = 0.02, P = 0.991

1 3% ( 587) 3% ( 593)

2 0% ( 15) 0% ( 15)

c oprenafl : 0 100% (20817) 100% (20863) χ2
2 = 1, P = 0.606

1 0% ( 97) 0% ( 98)

2 0% ( 0) 0% ( 1)

c orgspcssi 0% ( 17) 0% ( 16) χ2
1 = 0.03, P = 0.857

c supinfec : 0 97% (20352) 97% (20393) χ2
2 = 0.72, P = 0.696

1 3% ( 558) 3% ( 567)

2 0% ( 4) 0% ( 2)

c pulembol 0% ( 45) 0% ( 45) χ2
1 = 0, P = 0.991

c wndinfd : 0 99% (20683) 99% (20741) χ2
2 = 1.01, P = 0.603

1 1% ( 225) 1% ( 212)

2 0% ( 6) 0% ( 9)

c urninfec : 0 97% (20362) 97% (20409) χ2
2 = 0.11, P = 0.946

1 3% ( 548) 3% ( 548)

2 0% ( 4) 0% ( 5)

any complication 10% ( 2049) 10% ( 2044) χ2
1 = 0.03, P = 0.873

Numbers after percents are frequencies.
Test used:
Pearson test
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